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Note: There are THREE Secllons in this paper jer Ay B & C. Attempt - Section-A and retarn it to the
Superintendent within the given’ timie. No marks will be awarded for cuttmg, erasing and overwr;ﬂng
Mobile Phones are strictly pmhlbited in Examination Hall.

'I‘ime; 20 minutes

Section-A '- . Marks: 15

QNo.1 Select the correct option and shade (A,B,C,D) in the given Bubble Answer Sheet.
In which tnangle the perpendicular bxsectoi' ofthe base’ passes through its vertex angle?
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The point (-3, 8) is locatedinquadraﬂt-»- SR : , R ) A
The only point lying on both axes is S o o - o
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The diagonal 'of' ] does not ch;ude it mto two congruent triangles. - ‘ I j
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. Note: Time allowed 2:40 hours
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Anmer any NINE parts Each part caries equal marks

23 1 -1 = -
A= B =
o[ 1],_ [2 an-mn
Solvex+2y-l 2%+ 3y=5/2 by mvehmnmethnr}

S A a i

Simpliy: = 6".109”.’15" A

784.6 5 0.0431

Simplify: e

hy logarlthm h
Find the values of a2+ b* + 2 when a + b + ¢ . 5andab+be +ca=-2
Ifx=2~+3, find the values of x' +——14—
x
Factorize 10y* 3y — 1
Factorize a® + (c + d’
Find the square root of 16x° — 24x? +25x? < 1 '2}_; +4
Solve the equation 7 - V2b =3
Find thio solution set of 4)5x—2{ +3 = 1]
Find HCF of x* - x} 6and x* -2x _3

o SECTION -C . .
Attempt any THREE of the f'.mgwmg All que.sﬁons carry equal marks.‘ |

. Prove that A(‘2 0), B(6 0) C(6 6), D(-2 6) dre vemces of a redtangle.

If two angles of a trlangl ¢ are congruent, then-the S|des opposite to those angles are congruent.

The rlght blsector of thr_, sides ofa trlang]e are concurrent.

Construut AU VW draw their perpend:cular blSEC.tOI' and venfy their concurrency
mUV = 7em, 1 ;VW 6.5cm and mWU = 5. Sﬁm '
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SECTION-B Marks:36

Marks: 24 '



